


katalog == plik (treść: ,,zwartość'')

nr fizyczne bloków

stat ./plik

nazwa, nr i-węzła



plik: 15000B
blok: 1KiB
od: (1) 6000, (2) 14000
fragment: 1000B

Odczyt:

Zapisy:



plik: 14000B
blok: 1KiB
od: 14000
dopisujemy: 1000B

Zapis:



Zapis:

plik: 0B
blok: 1KiB
od: 14000
dopisujemy: 1000B

lseek()



Max. partycji:

Max. plik:

min((12 + (b/4) + (b/4)^2 + (b/4)^3)*b, 2^32 * 2^9)

2^32 * b -- fizyczny numer bloku

blok max. plik max. partycja

1KiB

8KiB





Max. plik:

-- fizyczny numer bloku

blok max. plik

1KiB

8KiB

2^32 * b

2^42 = 4TiB

2^45 = 32TiB

Max. partycji:

2^48 * b

max. partycja

2^58 = PiB

2^61 = 2 EiB





2^15 * 4KiB = 128MiB

512MiB / 128MiB = 4


